F2F D 1ERK

HEFEHHES
(B)Frk27E 48 18 (F) E/E284 3A31HE
(HE(L: M)
LEERE A ATEERE (B) B (A) - (B)
IERREF LN 455,418,600 455,418,600
. RRE RB F MU 296,000 296,000
il
b
?{g Y — EXEEBIREEE O 455,714,600 455,714,600
| AR 313,532,608 313,532,608
iﬁ " FE£E 45,141,486 45,141,486
ﬂg | BB 100,878,922 100,878,922
o Al CESIE= 51,363,320 51,363,320
Y— e X EER A (2) 510,916,336 510,916,336
P REESHEBEEG)=(D-@) 55,201,736 AB5,201,736
EAST EMBI &I 412,500 412,500
i XA EE Y &I 29,370 29,370
z]:' 75| T OO — R EBIRLE 3,621,946 3,621,946
= F— & A BB (@) 4,063,816 4,063,516
;i))hk FEFE 1,021,833 1,021,833
b=}
Bl
2
B ¥ — R IEEIE FE (5) 1,021,833 1,021,833
Y — U RIEESMERERE (6)=(4) - (5) 3,041,983 3,041,983
R ELE (1) =(3)+(6) A52,159,753 Ab52,159,753
MR EREHBEINE 1,260,000 1,260,000
5 B EEESEEE 4,296,068 4,296,068
&
4
Al R % 5 (8) 5,556,068 5,556,068
ﬁ B E B EFEHIE - 5y 18 198,192 198,192
D |, | EEMB & SRS S & B (RHIE) A22,604,196 A22,604,196
B ﬁ' E A & S R ST & FE L 5E 1,260,000 1,260,000
¥R AL (9) A21,146,004 A21,146,004
YRR (10)=(8) - (9) 26,702,072 26,702,072
LENE AR QD =(7) +(10) A\25,457,681 25,457,681
BTEA AR G B S 4E (12) 223,237,069 223,237,069 0
| SRR R S R AE (13)= (1) + (12) 197,779,388 223,237,069 25,457,681
g EASTAE (14)
i | & DAL OFE ST & F 3 3E (15)
% F DM OFET S&FE 4 (16)
=
|
)
i
R RRETE S REEE (17)=(13) + (14) +(15) - (16) 197,779,388 223,237,069 25,457,681




2 D25

FEEFFARE
(B) Frk276 48 18 (¥) ¥ak284 3A31H
(BA7: )
BER 8 EEAEE A3t PERER S | 1 &=
NHERBRELNE 455,418,600 455,418,600
i RERBEFH A& 296,000 296,000
| 2%
.
l;; Y — B RiEE AR E (D) 455,714,600 455,714,600
| (ABFR 313,532,608 313,532,608
14 ® FEE 45,141,486 45,141,486
B | B 100,878,922 100,878,922
£ A i ) 51,363,320 51,363,320
Y- AEBE A (2) 510,916,336 510,916,336
YU REIEEEREG)=(1)-(©2) A55,201,736 55,201,736
ST BB &I 412,500 412,500
¥l ZHREE Y I 29,370 29,370
é‘ 5| T DOMOH— & R EBSMTIE 3,621,946 3,621,946
% Y — C R EB MR R (4) 4,063,816 4,063,816
?? FEFILE 1,021,833 1,021,833
i
)
#f +— b X EWMAE A (5) 1,021,833 1,021,833
Y — E R EEISMERZERE (6)=(4)-(5) 3,041,983 3,041,983
REEEZERE (1)=(3)+(6) A52,159,753 A52,159,753
MR B S mBh &It 1,260,000 1,260,000
M BEEEZEE 4,296,068 4,296,068
ik
%
7l R BIIN  3t (8) 5,556,068 5,556,068
ﬁ Bl E R EE AR - 4007 1R 198,192 198,192
) 2 EEMFB &S &R E GRA%) A\22,604,196 A22,604,196
B | B S SR R 1,260,000 1,260,000
YR FHE(9) A21,146,004 A21,146,004
Bl HE S A (10)=(8) - (9) 26,702,072 26,702,072
LHNEBE B EE (11)=(7)+(10) A\25,457,681 25,457,681
AT TS S =4 (12) 223,237,069 223,237,069
| M R B IE S I AE (13)=(11) +(12) 197,779,388 197,779,388
% HA e TUREE (14)
&) | € DA DFRIL 4 BUHHH (15)
%ﬁi Z O ORE & FESTHE (16)
=
2]
D
s
R AEEIE S B RS 5E (17)=(13) + (14) +(15) - (16) 197,779,388 197,779,388




2 F D2RA

EREBNRE
(B)FER274 48 18 (¥) FRk284 3A31H
(A2 M)
EiER B ENEE
NERBRE RN 455,418,600
+lw REREFMWE&NE 296,000
| (3%
o
% Y — & R EBI A E (D) 455,714,600
| | AERE 313,532,608
B # HEE 45,141,486
B [ F B R 100,878,922
g| [T EIR 51,363,320
F— R EER A (2) 510,916,336
Y — e R EENEERE (3)=(1)-(2) A55,201,736
fEA&F EMBI &I 412,500
7l Z IR B Y & 3k 29,370
L[z otho o — e A mmhstanas 3,621,946
% P — R EESMNEE (4) 4,063,816
?]* XEFE 1,021,833
i
2
EL Y — A EBHNR A G) 1,021,833
Y — P R IEESMEEERE (6)=(4) - (5) 3,041,983
R B ZERE (1)=(3)+(6) A52,159,753
MR ERERMB &L 1,260,000
. EERESZHER 4,296,068
%
o
f,g BRI ZEE (8) 5,556,068
| |EEREFRHE- LR 198,192
%) # EHEMME&SHEE L EBRAE (RH%) A22,604,196
B | B & S RIS SRR 1,260,000
¥R E A E(9) A21,146,004
FERIME IR 22 (10)=(8) - (9) 26,702,072
LHEESISEER (D =(D+010) A25,457,681
ATE RS S I =4 (12) 223,237,069
YRR R EE (13)=(1) +(12) 197,779,388
fg EASBURE (14)
iy | € DA OBASL & BUA%E (15)
g F OO FE I & FE T8 (16)
=
#
D
R
IREARRRIE B4 (17) = (13) +(14) +(15) - (16) 197,779,388




